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Im. Wl 17 |EERRBAE 6,010 50I 3,005 (i} 0 0 (! 0 0 3,008 0
IRI. 10.25 | 18 |RESREMAR T4 5 97, 602 99F 96, 625 0 96, 625 0 0 0 0 0 0
0 0 0 0 0 0 0 o

1




(iiPhRst 4)

= § & &

[D&5CRERE]
(SHFTEICAS) (A -]
(#4471
— BHE HEANE (ELOAR
A8 |5m=m RIS - fk wAg | wmm EBEME :
o (%) HEmR || wHR amn | memme |FPREFE mrpon | wuwan | swnk | sBR AR
oAkt o| 273,544 179, 238 5, 120 0 o] 96625 0 0 0 4160  10.643] 62700
w3t o] 1,733,785 1.308,772] 133,152 0 6,450 B34, 021 0 I of 111.348]  sas07] 184, 200




(xfitg=l4)

£ & Kk =

[DsdZMEARS]

(fFRRSFNAD) [hE =X-]

(B - F9)

J— gaE I WATEE (FESDHER)
FAH |%RAE BENIAE - % R AE I fi &

el o) RERMER | meR aun | cenEr |FPENSE gopoe | wamar | wmAR | wER AR
RL&30| 1 |EMETEEE OB 70,000 500 35 000 0 0 0 ¢ 0 0 35, 000 0 0
RLO.30| 2 |EEHETEEE0AS) 110.000f 25] 27500 0 0 0 ¢ 0 0 27, 500 0 0
R.10.29] 3 |HEFEER01AS 1o, 000f 25 27, 500 0 0 0 0 0 0 27, 500 0 0
RL10.4) 4 |EIEEREIRMA 300 5ul 150, 0 0 0 ¢ 0 0 150 0 0
RLILTY 5 |EBEREIEH 300 sul 150 0 0 0 ¢ 0 0 150 0 0
R.1L9| 6 |EEESERY A 11,03 25 2, 759 0 0 0 0 i} 0 0 2,759 0
RL1LY| 7 (A& —Fv MLOBA) 7.783 sul 3, 891 0 0 D 0 0 0 0 3, 891 0
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RL1ZY T |A2F—%v MLI0AS] 7.608]  s0) 3,849 0 i 0 ¢ 0 0 0 | 3, 849 uI
RIL12.25] & (HUHEHEERAM 1A 11,883 25 2, 970 0 0 0 ¢ 0 0 0 ¢ 2, 570 nl
RLIZ25) & |[A2&—Fy FMLIITAS) 8234 50| 4 117 0 0 | 1 | 0 0 ¢ 4117 ol
Ri.12.20) 10 (SEFEFTEEREALE 11AD) 40, 375 sul 20, 187 0 0 0 0 | 0 0 1] 0 20,187
Rl.1z.200 11 (REFTESEBREAGE 1A 73, 625 sul 36, 812 0 a 0 0 0 0 0 1] ] 36, 812
Ri.1z.2| 12 |[&ERSME 6. 000 wul 5, uuni ¢ 0 £, 000 0 ¢ 0 0 H 0 0
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Rz.1.12) 8 |Hw UL 4,000 25 1, ooo] 1,000 i 0 0 0 0 0 0 i nl
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RZ1.13] 11 |BEft 1, 200 1un| 1, 200 1, 200 0 0 ] 0 0 0 0 ol nl
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RZ 214 2 |HEBESAM(12AR) 1,13 25 2, szsl 0 0' 0 ¢ 0 0 o| 0 2,928 ul
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